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o Time aﬂowed: 50 minutes. . . . Totak \ -
o Write all answers on the question paper. S R o
e Show all necessary working. 30 :
| Question 1 ) (5 marks)

Eighty-four people were rated on a score of 10 to 15 on their dr1v1ng ability. These results are given in the
frequency table below.

Score 10 1 12 - 13 14 1'5'
Frequency (f) 3 13 18 .y 20 15 10
cf ) '

For the results shown above, find the:

(2) mode \ : | (@ mean (%)

A
i

ga) med'ian_:\,

o v(e) standard deviation (correct to 2 decimal
o Tplaces). (7)) -

4 marks
Duestton i ults shown in Q(uesﬁon 1)
Draw a combmed cumulative frequency histogram and polygon fo: the‘res. s sho . .

,/ o | T




Question 3
For the results shown in Question 1, find the:

(4 marks)

() 1st Quartile (Q1) - (¢) 3 Quartile (Q3)
i ‘ RN .
' Cb) 2 Quartile (Qy) (d) Inter-Quartile range
Question 4 - (4 marks)
Draw a box-and-whisker plot for the information shown in Question 1.
/
'//
Question 5 (5 marks)

Twelve students were given tests in both Enghsh and Maths The results are given in fhe table below.

Student A B C.. D E

F G H I |7 K L

Maths 55 | 70 .60 85 41

50 99 90 45 95 80 70

English | 67 70 65 30 75

72 70 85 68 73 70 55

(p) Calculate the thean and standard deviation for
both tests.

(p) Compare the results for student D. In which test
has this student performed better and why?




Question 6 ' (2 marks)
Write the condition used to prove that the triangles in each pair are similar,

0 a7

Question 7 (5 marks)
Prove that AVZY ||| AXZW and hence find the value of x.

Question 8 ) (3 marks)
Ashley holds up a small stick 20cm from her eye so that it appears to be the same height as the flagpole. —
She is standmg 30m from the pole and the stick is 18cm long. How long is the ﬂagpole‘7




Question 9 - | 4 marks)
Two similar solids have their volume in the ratio 27:8. '
(/a) Find the ratio of their corresponding sides.

(p) Calculate the surface area of the larger solid if the smaller solid’s surface area is 20.84 cm?.

# Question 10 _ (3 marks)
A large cylindrical tank has four times the diameter and 4 times the height of a small cylindrical tank.
How many of the small tanks are required to fill the large tank?

End of Test ©
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(5 marks)

Eighty-four people were rated on a score of 10 to 15 on their driving ability. These results are given in the

frequency table below.
Score 10 11 12 13 14 15
Frequency (f) 8 13 18 20 15 10
w08 20 | 39 | S | 7+ | 8F
For the results shown above, find the:
@mode — g @mear = 5 o7

\r\. @np AN?%\T

(b) median —

>C ]

= I3 (e) standard deviation (correct to 2 decimal
places).
on ﬂmﬁmm = ‘ %I\ NQ , Q,| \\\uuh ~_o le
= S
4
Question 2 i . & E.unw&
Draw a combined cumulative frequency histogram and polygon for the resulis shown in Question 1.
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Question 3
For the results shown in Question 1, find the:

(4 marks)

(@) 1st Quartile (Q) = pv. of 215F 422" %.

(©) 37 Quartile (O =/v. o 62467

— -
=7 =14
= \.5
(b) 2™ Quartile (Q) = Moslriam (d) Inter-Quartile range
=13 = mwwm -
A
= 2.5
4
Question 4 : (& marks)
Unwé a box-and-whisker plot for the information shown in Question 1.
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Question 5 (G marks)
Twelve students were given tests in both English and Maths. The results are given in the table below.
Swdei] A | B | C [ D [ E | F | G | u | 1 T T K | L

Maths 55 70 | 60 85 41

50 99 90 45 95 80 70

English | 67 70 65 80 75

72 70 85 68 73 70 55

{a) Calculate the mean and standard deviation for (b) Compare the results for student D. In which test
both tests. il o has this student performed better and why?
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